Efficiency vs hit

1.2

iy

efficiency vs hits

o
)
T

0O 10 20 30 40 50 60 70 80
TP hits

—=— DQM_mkFit_newBASE3
—e— DQM_mkFit_new
[Efficienc] —— DQM_mkFit_newANDPL

=

) Ak ALY RALAD LARL ALY WALAS LAY RALA) LA LAAL

layers

0.09]
0.08|
0.07

ff]

=)
o
>

efficiency vs

0.05]
0.04]
0.03]
0.02
0.0%

Ratio

o6ff----- PR 11 SRR ) R D PR

0 5 10 15 20 25
TP layers

Efficiency vs pixel layer

0.5
0.09
£o.08
(=%
£0.07

3
80.06,
(<}

| layers

%’0.05
3}
0.04]
0.03]
0.02
0.0
0
1

Ratio

0.9

0.8

0.7

6 7 8

R

0'”() 2 4 6 8 10 12 14 16 18 20
TP 3D layers



	Contents
	Page 1


